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12.10 Taylor & Maclaurin Series
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Suppose  is a function which has a power series representationf
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 of the function  centered at .f aTaylor series
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If 0,  then we call the series the  of the function .a f= Maclaurin series

Math 104 – Rimmer

12.10 Taylor & Maclaurin Series

2 3 4

0

1   
! 2! 3! 4!

n
x

n

x x x x
e x

n

∞

=

= = + + + + +∑ �

( )Find the Maclaurin series for xf x e=
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Find its radius of convergence.
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12.10 Taylor & Maclaurin Series( )Find the Taylor series for cos  centered at .
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Use a power series to integrate a function when there is no integration technique you could use.
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Use a power series to evaluate a limit.
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Use a power series to find the sum of a series.
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( ) ( )Find the first three non-zero terms of the Maclaurin series for ln 1xf x e x= −
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( ), with  and ,R I= ∞ = −∞ ∞

, with 1 and 1R I x= = <

, with 1 and 1R I x= = <

by  two series.multiplying

the overlap b/w 

the two intervals
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( )Find the first three non-zero terms of the Maclaurin series for tanf x x=
by  two series.dividing


